
USER MANUAL
TV STAND

SAVE THESE INSTRUCTIONS FOR FUTURE USE



STOP

PLEASE DO NOT RETURN TO STORE

Please do not return this product to the retailer!!
We are able to assist you in ANY way

If you find that you have any trouble with assembly or
missing or damaged parts please contact the seller.



If you find that you have any trouble with assembly or



4 32

M4x30

4 161 24

8 16

1

2

2

4

5

8

8

7

6

9

14

14

13

13

15
15

15
15

16
16

16

16
20

19

17 21

18

11

12

11

10

10

x2

3

3

24 24 22 8

M4x25

8

M6x55

12

M4x25



STEP  1

STEP  2

A

A

A

A

A

A

A

A

A
A

A
A

1

Ax12

A

A

8

A

A
8

Ax4



STEP  3

STEP  4

5

4

8

8

B

B

B

B

F F

F F

K

Bx4Fx4Kx4

Jx8 CRx2 CLx2

J J

CR
CR

CL
CL

J J

J

J

J J

J

J

J

J

5
4

CL

CL

CR

CR



STEP  5

STEP  6

F
F

F

F

F

F F F

F
F

B

B

B B

B

B

B

B

B

B
B

B

F F
2

2

7

6

4

5

1

8

8

K

Bx12Fx12 Kx12

11

11

12



STEP  7

STEP  8

C
C

C

C

C

C

C

C

C CC

C

F F

F
F
F F

F
F F F

F
F9

Fx12Cx12

O

O

O

O

O

O

O

O

O O
O

O

Ox12



10

10



E

E

H

H

10

10

10
3

E

H3

Ex2 Hx2

N
N N
N N

N NN

15

15

15 15

13

13

14

14

Nx16 



STEP  13

STEP  14

G
G

G
G

G
G

G

G

16

16

16

16

I

G

G

M

MM

M

M
M

Gx8 Ix1Mx8

C

C
C

C

C

C

C C
C
C

F

F

F

F
L

L

L

L

Cx10 Fx4Lx4



STEP  15

STEP  16

A

A

A

A

E

H

21

x2

Ax8 Ex2 Hx2

D

D

D

D
17

18

19

x2

Dx8



x2



STEP  19

STEP  20

21

J

J

J

J

DR

DL

x2

J
DL

JDR
J J

Jx8DRx2DLx2


